#M A% / Components

No. &% / Part name | ${&E / Pos # & / Material & - REALIE / Color-Finish
R _ 1 2avkHRIL 1 7 LR A1050P ATHAVYMN =TS, ATFAVT 99T NAR
* JLRSEBDSARICAEYMITTEEY, Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
* Adhesive rubber feet in cluded. 2 YT ISR 1 7 ILZHR A1050P YN =FNRAL, 7974
Rear panel Aluminium A1050P Silver anodized , Black anodized
6 3 |HqrIL—4 2 7 LS AG063S-T5 YU-gE | TR
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JavkIL—L 2 TILEHH A A6063S-T5 TV-BE TIEE
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
2 5 YFIL—L4 2 TIVSHRH A A6063S-T5 YN=TI3Ab
Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 £ #47/3—/ Top cover 1 $H4R SPCC / Steel SPCC AN LS | 75993% / Light gray painted , Black painted

7 T #5/35— / Bottom cover 1 $f#R SPCC / Steel SPCC 1ML & 7993 / Light gray painted , Black painted
o 8 [a—F—Jmvs 2 FLEFAEwAR ADCT2 YU, 7 EE
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 V724—k 2 HORMEABSHIE UL94V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 3L /2 / Rubber feet 4 w19 AL / Polyurethane 7'3v9 / Black
13 1 |BRHFERMAx 6 43) 4 % =ffiyni-+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 HAFTER (M4 x 8 ) 8 % =Xi//sPEs
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 HAFTE R (M4 x 10 /N1 UF) 4 % =f@Rsni-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

10
Mm%/ Title
BRRUINFBRTH ALY RT Ll —2 O]
4k (2FRKEDO) / Color type (End of product number[]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
SL% / Code /3L / Panel EThN—/ Top * Bottom cover HAKIL—L / Side frame &8/ Approved 1%/ Checked #[X/Created 1% /Product number RIE/Scale

G < JLsN— / Silver S4rJL— / Light gray 4'L— / Gray MS99-32-4501

B J59% / Black J5v%4 / Black J5v% / Black £ (320 " s
BS 2 )LsN— / Silver 75v% / Black J5w% / Black 1ERLH /Date 2017/08/09




M

12.5

20

10

20

B-B(1:5)

290

450

HAKIL—L1 / Side framel

99

6.1

0> k7L —.\1 / Front framel

320

= A

= A

293

)7L —11 / Rear framel

3.5

A-A(1:5)

B#~T% / Max dim. 94

C-C(1:5)

AZ~Ti% / Max dim. 425

A®h~Ti% / Max dim. 299

1J72L—L12 / Rear frame2

L

825

HARK7L—L2 / Side frame2

AV IL—L2 / Front frame2

] |

| O

I |
18] L

20.6

20.6

290

(e O &)

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fh/Title
AZIWORT LT —R
DESKTOP ENCLOSURE

o]

#2/Approved

%[/ Checked

T

R/ Created

A

24 /Product number RE/Scale
MS99-32-4501 1:5
{ERLH/Date 2017/08/09 2 /8




02 k/\AR)L / Front panel

$~T3i% / Max dim. 83

%

i

BE#~ti% / Max dim. 290

g

/N2 JLFKE/Panel Frontside

1)J7 /N4~ )L / Rear panel

B#h~Ti% / Max dim. 290

1% Eg: i_t 15“

Surface protective film side

\ A o L 1

A#h~ti% / Max dim. 82.5

/N2~ )LIRME/Panel Frontside

Hairline brushed direction

R —

B

Surface protective film side

203
|
2 S S—
/N7~ )L M /Panel Backside
208 5
|

/\Z~)LE M /Panel Backside

w4 /Title

YERLH/Date 2017/08/08

TAKACHI| #RE#SHFERTE SOURSRIL | TR () L’T
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Front panel , Rear panel
=5 : RE/Scale
#3/Approved #%X/Checked #I[X]/Created A% /Product number
H99 — W320 1:2.9
£ a2 o] 3/ 8




702 MME| / Front side

B2 M| / Front side

94

2-@5

77

4-g45

4175

35

3375

2-¢4.2

2-M4

69
55

I ¥
11

HARKIL—L1 / Side framel

HARIL—L2 / Side frame2

4/ Title
e = T o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
2/ Approved #%[E/Checked HE/Created | EF/Product number RIE/Scale
H99 - D450 4
Es L2 0) PR

{ERL B /Date 2017/08/09




30

293

re) o)
< L9
283
re) o)
< (9]

R4

20
==

2-M4AH SR
2-M4 Countersunk

ol
\o

TRV IL—LI1 / Front framel

Ol
O

A2 kI —12 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
JaVkIL—L4

Front frame

o]

7R/ Approved

X/ Checked

T

X /Created

A

FIF /Product number

W320

RE/Scale
1:25

{ERL B /Date 2017/08/09




20

et

LY

[T
(44

M4

1J7 7L —1s1 / Rear framel

1J77L—1.2 / Rear frame2

G/ Title
TAKACHI) #XaitanFE@TE YFIL—Ls O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
A2/ Approved #&[X/Checked #[X/Created 1% /Product number RE/Scale
W320 1:25
£ Eaza)
fFAE/Date  2017/08/09 6/ 8




6.75

15

4195

i

289.5

316.5

QIR

A% / Max dim. 299

R4.5

H#hti% / Max dim. 387.5

12

234

60

35

6.5

w4/ Title
B R IHFERTE e o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7R/ Approved #&[X/Checked X /Created FIF /Product number REE/Scale
W320 - D450 13
£ B4 .
1R B /Date 2017/08/09




6.75

15

4195

pum—

289.5

316.5

R4.5

H$~ti% / Max dim. 387.5

7
%

ol

A% / Max dim. 299

12

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
Thi—

Bottom cover

o]

7R/ Approved

X/ Checked

T

X /Created

A

FIF /Product number

W320 - D450

RE/Scale
1:3

{ERL B /Date 2017/08/09




